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f. Calculate the coef

nt of variation for Fund (UK Active) over the period
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g. Calculate the correlation coefficient between the two funds over the period.
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h. Conduct appropriate test of whether the correction cosfficisnt in part (vi) is statistically
of 0.05
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Assume that you have collected a sample of 101 monthly retums for stock A, w
yields a mean retum of 3.8% with standard deviation of 5.6%. Use this sample to obtain a
98% confidence interval for the mean retum of stock A
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1. Explain, with examples, the central limit theorem. Discuss its implication to statistical
estimation.
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As aprivate investor, you have col
analysis of investment performance

d the following data over the past five year for your

Fund Fund
(UK Active) (UK Alpha)
2006 19.01% 44.49%
2007 15.27% 2961%
2008 -24.07% -1119%
2009 9.07% -12.93%
2010 23.79% 51.40%

a. Calculate the arithmet
years, 2006 to 2010;

mean and geometric mean for Fund (UK Active) for the past five
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Compare and contrast, with numerical examples, the use of time-weighted return and
money-weighted retum,
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Determine the IQR of Fund (UK Active)'s retums aver the period.





image4.png
d. Calculate the standard deviation of Fund (UK Active) aver the given period.
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Critique the use of semi-variance to measure investment risk,





